2018~2019F10B R |E X 5=t BEitE

132 H TRES 2

—. 1%

i

Q: 00, QO Q- Q- Q= Q0o @Qc @

€8 (1) (1) 275 (2) 2Nay 0, + 200, = 2Na,CO; + Oy
(2) Na>N>0>H
(3) NH; + H,O = NH; + OH"
(4) (1)55(2)NayCO3 +2HCIO4 = CO3 1T +H50 + 2NaClOy4

@ (1) (1)+1(2) 7i&x} (3) BDEC
(2) E hEEEESK
(3) REINRTS | BHLEESHRKESHENES
(4) 2S,Cly + 2H,0 = 3S | + SO, + 4HCI
(5) 20%

@ (1) (1) BARIERER , MRRAEE (2) 98
(2) (1)NaNO, (2)HNO;
(3) (1)2H,0 —4e” =0, T +4H" (2) 5574
(4) 2[AuCly]" 4 5802 + 5H,0 = 2Au+ 8Cl™ + 5503~ + 10H"



(1) (1)0.1mol/(L - min) (2)
C(s) + HyO(g) = CO(g) + Hy(g) AH = +65.6 kJ/mol
(2) A
(3) 4.5
(4) >

(5) <

(1) (1) [Ar]3d'%4s%4p® (2) Ga. Ge. Se
(2) (1){&F (2) NH; SFhisEag
(3) (1) PUEAR (2) sp® 244k

(4) @ 6

® 134 x 2

Y2 (360.2 x 1071)% x 500.9 x 10710 x 6.02 x 10

(1) (1)2- FERR (2) RE. SFRF
(2) (1)BUURAE (2) RS

(3) BC
CH,4 CH;

| : |
@O—(ll—COOH+HOCH2CH3 ARH,S0, @O—Cl—COOCH2CH3+H20
CH, A CH,

(5) 9

(4)

PCl E]
(6) CH3CH2COOHT3> CH,CH— COOH%H&;CH2=CHCOONa

Cl H
L
{CH—cle}n A o —cncoon

COOH



